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SLOPE - circle the correct answer X ‘
Given two points, how do you find slope? Z l
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What if you are given an equation and told to find the slope?
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Which letter represents slope? m

7ind the slope for the following.
Then let’s graph the line.
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Module 4.5

Compare the two functions below. Determine which fun has a “gre t rate of change.”
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Convert the following from point-slope form into slope-intercept form:
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(hint: make a@le from the points on the graph)

Circle One:@xponential Neither

Discrete ("Continuous

Conn\8 ded.

Circle One:

\

Domain? ("CO, C(>>

qu N _ Pay
(MAt: a thplefror\ the ois afvae graphy—

CircleOne@Exponential Neither
Circle One: Continuous

Domain? x—- Vak

g L/—zozg

e

10. Year | Profit
0 | 100 XZ
1 200
- XZQWWQ
3 800 4%

Equation:

Circle One:

Linear/” Exponential Neyther
Circle One: Continuous

Domain? (9(&25 EO’ ll Z, 35

= IQIQ( 2y

v
O +m



